F3S HMESFETAL 20208 5H 16 H(XL)

2. IROREREDFHE LTSV,
(1) ab—2a—b+2 (20 EER=FED

(2) x°—4dxy—3x+12y
(20 YL UA)

(3) a?—3a—2ab+b*+30—10
(20 HAJERAIHRER)

(4) a3+2a’b—4ab?>—8b° (20 BIVEERR)

(5) x*+zxy—4x—y+3 (20 8LAZERE)
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(6) a’+b*+2bc+2ca+2ab
(20 BEFSARATEFR)

(7)) a®*+3ac—4b>—6bc
(20 BHEARARE /AL )

(8) (a—b)*—6ac+6bc+9c?
(20 BEAAARIALE)

(9) zx3+2yx?—yiz—2y° (20 E=FF)
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ES %tﬁ*%&a,a L’CEJJ?&%% F L& D).

=(ab—2a)—b+2 zh_c:_qa;g_z_)_, ____________
=a(6—2)—(b—2)
=(a—1)(b—2)

(2) x?—4dxy—3x+12y
=(x*—4zry)—3x+12y
=x(x—4y) —3(x—4y)
=(m‘—3)(:r~4y)

=(a*-2ab+0*) —3a+3b— 10!3IE<':3
=(g—0)2—-3(a—>)—10 KT
={(a—b)+2} {(a—0)—5} '
=(a—b+2)(a—b—5)

(4) a®+2a%h—4ab?—80°
=(a®+2a*b) —4ab®*—80°
=a*(a+2b) —4b*(a+2b)
=(a’—4b*)(a+2b)
=(a+2b)(a—2b)(a+2b)
=(a+26)*(a—2b)

(5) ritey—dz-yts TEPE W5
=(xy—y) +xl—dx+3 [KAVS. |
=(z~Dy+ (-1 (x—-3)
=(z— 1D {y+(z—3)}
:(xul)(ery—'—jS;_){-_ |
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(6) a?+b2+2bc+2ca+2ab
=(a’+2ab+b%) +2bc+2a [ amic |
=(a+b)+2(a+b) 3L 3T |
—(a+0){(a+b)+2c)  EFYB
=(a+b)(a+b+2¢)

(7) a2+3ac"~452%6bc“".-' '
=(a?—4b?) +3ac—6bc
=(a+2b)(a—2b)+3c(a—2b)
=(a—2b){(a+2b)+3c}
=(a—2b)(a+2b+3c)

(8) (a—b)*—6ac+6bc+9c® {4—pps, [ |
=(a—b)?—6c(a—b)+9c? |Lrr=y.

e —————

=(a—b)?—2x (a—b) x3c+(3c)?

={(a—b)—3c}?
=(a—b—3¢c)*

(8) z¥+2yx?—y’z—2y3
= (234 2yx?) —y’x—2y°3
=z*(z+2y) —y*(z+2y)
=(z*—y?) (z+2y)
=(z+y) (x—y) (x+2y)



